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Gopu has taken 

(A) at 

(C) inside 

his father. 

after 

D under 

(A) 	In case 

(C) 	In case on 
In case of 

(D) In case a 

PART A 

1. 	The synonym for the word 'passion' is 

strong desire 

detest 
(B) strong hatred 

(D) love 

Choose the correct spelling. 

(A) acrobetics 
	

(B) acorbatics 
acrobatics 
	

(D) akrobatics 

Which of the following is not a preposition? 

(A) out 	 (B) in 
(C) by 	 and 

I went to Delhi to attend my interview. 

The underlined phrase is 

a dependent clause 

(C) 	an independent clause 

	 fire, break the glass to escape. 

(B) a noun phrase 

(D) none of the above 

7. 	Read the following Positive Degree used to describe a quality. 

Sheela is a tall girl. 

Choose the correct Superlative Degree for the above sentence. 

Sheela is shorter than the boys 

Sheela is the shortest among her sisters 

Sheela is the tallest girl in her class 
(D) 	Sheela is taller than Stella 
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(A) agonize 

(C) torture 

encourage 

(D) misery 

his busy schedule. 

(B) inspite of 

due to 

Which of the following is not a type of laughter? 

(A) Chuckle 	 (B) Howl 

(C) Guffaw 	 Cringe 

A large jug is also referred to as a 

pitcher 	 (B) picture 

(C) bowl 	 (D) lantern 

Which of the following is not the synonym of the word 'torment'? 

11. 	Give the plural form for the words below. 

deer, child, lady, loaf 

(A) 	deers, childs, ladys, loafs 	(B) deers, children, ladys, loaves 

deer, children, ladies, loaves 	(D) deer, childrens, ladies, loafs 

12. • He did not attend the meeting 

(A) 	consequence of 

(C)-  except for 

Complete the sentence using appropriate modal verb. 

My sister 	  play the Veena in the evenings when she was in 

school. (past habit) 

(A) could 

(C) never 

used to 

always 

How many lines does a sonnet contain? 

(A) 	11 lines 	 (B) 16 lines 

14 lines 	 (D) 20 lines 
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peaceful 

(C) frenzy 

(B) flare up 

(D) outburst 

15. 	The play The Tempest' was written by 

(A) 	Robert Frost 	 (B) Ben Johnson 

(C) 	Christopher Marlowe 	 William Shakespeare 

16 	Which among the following is not a synonym for the word 'tantrum'? 

Which of the following Idiom is used to indicate that 'a secret is out'? 

(A) 	Once in a blue moon 	 The cat is out of the bag 

(C) 	A bolt out of the blue sky 	D) On the ball 

Choose the word with correct spelling. 

(A) persistance 	 (B) pursistance 

persistence 	 (D) persisitence 

Choose the correct prefix for the following word. 

Accurate 

(A) Mis 	 (B) Non 

(C) Un 	 In 

Choose the correct link word. 

	he was hardworking, he was called lazy. 

Though 	 (B) But 

Since 	 (D) Despite 

Choose the correct order of the words given below. 

as/ I/ healthy/ are/ you/ am/ as 

(A) As I am healthy as you are. 

I am as healthy as you are. 

Healthy as you are as I am. 

As you are healthy as I am. 
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of a Queen in the school play. 

(B) portion 

(D) batch 

She played the 

(A) roll 
role 

22. 	Choose the correct sentence. 

Amir is fond to music 

Amir is fond under music 

Amir is fond of music 

Amir is found of music 

23. 	Menaka completed.her 6 month 

(A) Coarse 

(C) Corce 

  

a little early. 

  

(B Corse 

Course 

24. 	Match the antonyms given below. 

Concentrate 	a. incomplete 

Insane 
	 b. distract 

Complete 
	 C. 	wise 

Inevitable 
	 d. Preventable 

I b, II c, III a, IV d 

I c, II a, III b, IV d 

I d, II b, III c, IV a - 

I a, IT b, III c, IV d 

25. 	Complete the proverb: 

Where there is a will 

(A) 	we can find a way there is a way 

(C) 	there is wealth 	 D) there is a path 

26. 	Choose the appropriate word to fill up the blank. 
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(B) flock 

swarm 

(A) herd 

(C) bunch 

(C) 

27. 	A 	 of ants. 

(Choose the appropriate collective noun) 

28. 	Choose the correct antonym for the italized word. 

Meena suffered an injury on her hand. 

strengthen 	 (B) sorrow 

mourn 	 (D) happy 

Which of the following word can be placed after the word 'soft' to form a 

compound word? 

(A) run 	 ware 

(C) cycle 	 D) mark 

Which of the following word is used to denote the collection and study of 

postal stamps? 

statistics 

numismatics 

philately 

antiquarian (D) 

Identify the word that rhymes with the word 'bounty'. 

(A) abundance 	 (B) mountain 

(C) bounce 	 county 

Choose the odd one. 

paper 	 (B) wall 

(C) cement 	 (D) plaster 
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Man: Biography; Nation:? 

(A) Leader 

(C) Geography 

Pick out the words with suffixes 

A — Rewrite 

B — Happiness 

C — Unwind 

D — Colourful 

(A) A, D 

B, D 

History 

People 

(B) All the above 

(D) C, D 

	

35. 	Which of the following is not a synonym of the word 'ambush'? 

(A) 	surprise attack 	 (B) entrap 

(C) pounce 	 undo 

	

36. 	Which book was authored by Nobel Laureate Rabindranath Tagore? 

Gitanjali 

A Suitable Boy 

My Experiments with Truth 

Wings of Fire 

	

37. 	When a person is referred to as 'a couch potato', it means that the person is 

(A) 	a very active person 	 an idle person 

(C) 	one who likes to eat potato 	(D) a chubby person 

	

38. 	I respect him 	 he is strict. (Choose the correct preposition) 

(A) and 	 (B) unless 

(C) but 	 (D) so 

39. 	Parts : Strap ; Tide: 

(A) water 

(C) sea 
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(B) 

? (Fill in the blank) 

_ (B) will we? 

shall we? 

44. 	Let's go for a walk, 

(A) 	shan't we? 

(C) 	won't we? 

40. 	Pick out the wrong sentence. 

(A) 	A well is situated in the garden (B) My father enquired if I was well 

When well she come home? 	(D) Our well is dry during summer 

The climate of the City 	 mild and pleasant most of the times. 

(A) 	is remaining 	 (B) was remaining 

(C) 	is remained 	 remains 

Choose the anagram for the word 'earth'. 

heart 	 (B) ground 

(C) treat 	 (D) universe 

Which of the given options is a metaphor? 

(A) 	Life is like a chocolate box 

Raj is like his twin brother 

His words are pearls of wisdom 

The bus is slow as a snail 

45. • Match the following. 

A bagful of 	a. Silver 

A Spoonful of 	b. Coffee 

A Pocketful of 	c. Sugar 

IV A cupful of 	 d. Money 

 
 
 

I a, II c, III d, IV b 
I a, II b, Tile, IV d 
I d, II c, III b, IV a 
I c, II d, III b, IV a 
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47. 	There is unity in diversity 

(A) within 

among 

(B) between 

(D) and 

the people 

46. 	Unscramble the word `murebr. 

(A) blurrier rumble 

(C) rtimbel 	 (D) tumbler 

48. 	Choose the meaning of the word 'nightmare'. 

horse running at night 

a heavy demand , 

worst enemy 

a frightening dream 

49. 	A type of silly poem with five lines is referred to as 

limerick 	 (B) poem 

(C) sonnet 
	

(D) adage 

50. 	Identify the preposition in the following sentence. 

Sheela hid the sweets behind her back. 

(A) hid 	 behind 

(C) 	back 	 (D) the sweets 
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(A) 

(A) 

PART B 

51. A person pulls a bench from one place to another using 	  on the 
object. 

	

Force 	 (B) Pull 

(C) Inertia 	 (D)_ Motion 

90 Puft CMG-6)566)U  90 @'--OG'510§1 1-1) 4r1.0 	OULILOCS 

(A) eSlon& 	 ( 3) g(g)G1)  
(C) OGOGDLDLID 	 (D) gui&56) 

52 	A motor cycle is fitted with springs and shock absorbers, because 

It gives a good look to the vehicle 

It helps to reduce jerks while moving on uneven roads 

It helps to stop the vehicle at the correct time 

It is the design of the vehicle 

	

(EF&Ely 	GurRLGo-rOGi) 	&oGireS1G-1) 	,DicoLDC_JyzEib 	-DiOr.1.6066965sth 
GAlaresfiGi), ,946-nalr 

al rr-56b*O 	pGixo 	 „DIG-61&Almo 

çri (EFITGIDGOcEa6b (6,E6OLD Gu fro g- u@ii3,310fraitEGnar (6-0-)iEcss 

&MU_Jrrar Gprj. 061) airr&isisres)p (61,0p 
airr,Esar06-isr aug_Guallnilturr5CD 

53. 	An object that emits its own light is called 	  

bright object 	 (B) source of light 

luminous object 	 (D) sun 

pGir &U__1 9aGotn QGuat.61@ii) Qurrodr 	 GTOST ,DIG-Opi565111U@AR§. 

(A) 	apsrr&L.Drrar Qun-oGiT 	 (B) 9c616141-  cpri-9-Lb 

(C) 	9Giqoup ClurroGiT 	 (D) 	Mu__16irr 

El 	 11 DJRE22 
[Turn over 



The coloured part of the eye which controls the amount of light entering the 
pupil is known as 	 

(A) Cornea 	 B Eye-Lids 

(C) Retina 	 Iris 

&G-krurroDaRt9Go 
	 9G61&650ft<EthlEisr 	GrFJ 	@UU3dW E6-661-66616irr 

(61(y3G-01___u_J u(0 
	ord-rg ,516-6)0(ELlu@AR§. 

(A) 	<Err frail n- 
	 (B) 	ges-m_D<Esdr 

(C) 	01006)1)- 
	 (ID) 60601 

Name the instrument used to see long distance objects like the stars. 

(A) Microscope 	 (B) Lens 

(C) Camera 	 Telescope 

pC_&01)- rLksw'rr Curr6-in-  (66b:bTL_ gr [7) @o&gLi) ClurroL&G-ncrrill un-friG6ELI uiuGisru@Lb 

a06161Gin ClutuGniTis 

(A) 	g660i 	C6001 	MiEg 
	

(B) 	6-65r6-66-rn-14. 61G-i)G-IDGi) 

(C) LI606111 	&06 
	

(D) Clri-G-b-)G-DGprr&gl 

Consider the correctness of the statements below. 

I. 	When an object is heated, its temperature lowers. 

When heated, the object expands. 

Statement II is correct and Statement I is wrong 

Statement I is correct and Statement II is wrong 

Statement I and II are correct 

Statement I and II are wrong 

 

 

 

(E6C/01L.. (sco_pse616i5-r 2_6601 	eDw 	LoGis)Lu 66-r-L41 Lual Lb. 

90 ClurroGnar t_rr.&6LbGt_irr§i, 	ii Quo 

LI-r&gt.i)Currgi, Qurrodr 

En_fti II aMuirresro 	 pairre-r§i 

En_fti I &61turresr§ Leftiti) (sr6.4g II palm frar§ 

644,9 I L.Doitip II gfiurraw 

Ea0g I LoOph II pa.irrafr§ 
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(A) 

57. When we use a table fan for a long time and when we touch the motor bcix 

after switching it off, the motor box will be hot, why? 

Because there is no ventilation in the motor box 

Because of the heating effect of current 

Because it is not connected properly 

Because it is used for a long time 

GLD6-om G151,b41u <643yri___ GpfTLTD 	 ,D[66)p c9-16106356rp a Gig aprrt:_t-rrfr Quil4G-Diu 

Qprr@WGun-§, CLorriLrrft QuL 	1____rrs @o&gCn, G3-Gisr? 

.(A) 	@TkG[Dral_t_rr(r QuLu_96) arr0G1rili-Li) @Gba)Gu 

(B) 	uSld-rGarrnit_06ig C1G-ti U 66) ar a 67 Errvevinur,s 

(C)crlolacre1163 4,=g4 ai9LLIrr,s1 6,Yosx.00llh ELI L_Cig 610.03 

(D)   Pun_ Cçrwru,s u Gill ui u alp rr6i) 

58. 	The two factors used to determine electric consumption in our houses are 

Number of hours of power shut down and number of electrical 

equipments used 

Number of Air conditioning units and number of fans 

Amount of electric power and duration of usage 

(D) 	None of the above 

pLio 6-)3@,%thiGi) u516-1-  P__uCturra6-0-)p ftu)rre6l&aLliuuu@Miliu@Lb @wit@ 6rr9-6-661ffiGir 

T&rrçrLi 	CjuLLGpiTOGisr Gruicoosafl&ams L.D0Ri) U ILI u @p u LL_ 

5rrp6:5-rri&G.616-in Grairraufl&G-n& 

gthl Cr arrposrill Quilyi516-isr Greitirea&G06 LcOg u516-isre_51,0016acisr G-1-661srarofl&G-o(s 

1 /4_9irrj L_Dgi Li) uuiGisrurrillq_Girr Gprj-th 

CLuE6.10lui Gi-§aid) @Gba-)G-D 
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(C) 

An echo sound is produced due to the 	 of the original sound wave. 

(A) repetition 	 B loudness 

(C) vibration 	 t1 reflection 

,D1,EFG-i) 9esi ,_916m616-isr 	  6Errijaisrumr6 G-1-0Q9-rreS1 fil,F464§. 

(A) 	LEGthsr@t:n &lir@ Li) GpoLio guiGby 	(B) (5cpC{) 

(C) ,310(ral 	 (D) 611)-OuGISICni 

The mineral from which a metal can be readily and economically extracted on 
a large scale is called 	 

Ore 	 (B) Flux 
Matrix 	 (D) Lava 

90 EG-61u2,0eS16,6§, QuMiu ,D1 areS1Gb GraprrgaiLh, ,D1066 Q&D0516-01 6161C1p@iscs& 
EnAci_ui CGurrati) 	 ora-nliu@Lio. 

(A) pp.§ 
	 (B) 6Tr& 

(C) 	,31,i(T.Gurrn-Ligo 
	

(D) GrrthnonGo (wtht_i 

61. 	Amalgam is the mixture of 

 

with another metal. 

 

(A) Aluminium 	 Mercury 
(C) Iron 	 (D) Copper 

6-06-6)61.J GT6iff LI§ 	  LGT Q_CG-orr&th G&W GO GO tIJ rr6 Li) . 

(A) 	,3ig 1151661thnb 
	

(B) urrpijaLb 

(C) @OL.D1-1 
	

(D) •Q5LbLi 

62 	What makes a car move using fuel? 

(A 	Evaporation of fuel 	 (B) Condensation of fuel 
Combustion of fuel 	 (D) Lubrication of fuel 

90 	rr fr GrMQurroGnar& EMTG6T@ GT 6_16urr

•

g 	r*5Algi? 

(A) 	6r61Qun-06-r.,9se5111_JurGuprrGb 	(B) 	QurroGi-r 9@&,s6prr.61) 

(C) 	Gr61QurroGir Gi-ffle_iprrGi) 	 (D) 	Qurr irr  
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(B) Four 

Two 

(A) One 

(C) Three , 

63. 	The heart of a fish has 

 

chambers. 

 

Li3644r@Pu-01Gb 
	

IG)T Q_Gi-rorra-r. 

(A) 96iYig 
	

(B) prr6ii-r6 

(C) QT6i5T9 
	

(D) c@ijoio-r 

64. 	What are the main blood groups of a human? 

A, B, AB and 0 

) A, B and 0 

A and 0 

A, B, AB, 0+(positive) and 0 - (negative) 

LD 661p669 6iST Go&4114 	61_10)&6564 ILI rres)ai? 

A, B, AB Logiti) 0 

A, B 	0 

A L_DgLi) 0 

A, B, AB, 0+(urrALLEI_Gii) Loftgi) 0- (Qp66L4Gii) 

65. The 'Nation wide Family Planning Programme in India was launched 

in 	  

(A) 1949 	 1952 

(C) 1950 	 (D) 1951 

Liff) GpAuJ ,plaroSkorre-r (5@Lhu:s aL@Liurr@ 1LLiU Qprri_r_hsuuLL_ ,wtitsr@ 

(A) 1949 
	

(B) 1952 

(C) 1950 
	

(D) 1951 
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(B) May 15 

(D) November 14 

(A) April 28 

May 28 

(B) 25 

23 
(A) 21 

(C) 22 

66. The National Day for Menstrual Hygiene is observed on 	  every 

year. 

GjQJrr Guot_c4mh 	prrdr wri-paLraL (%5 rrp rriT prrarn-a 

(A) 	giiii)-6) 28 	 (B) Gm 15 

(C) 	w28G 	 (D) pQnbufr 14 

67. 	In humans, normally each cell contains 	 pairs of chromosomes. 

96.JClarrro wo 	Q&Gbagith Qurrgairr5 

ci-rarar. 

 

Cnrn.q_ (Go-rrCi.Drras1ri...0651r 

 

(A) 21 
	

(B) 25 

(C) 22 
	

(D) 23 

68. 	Fossils are evidences of ancient life forms preserved by 

Natural processes 

Using saline solutions 

Taxidermy 

Using herbal medicines 

61Dp 	61 frill uul_airElacir 	  urro6srrise5C_Iutli.___ uwrQ&Era) p_tiS1M8G-0-)Grnii u#11] 

,Dspri-u-LorrE eSlarrE.J54§. 

1.1_061DitE aguiG1)&6wLarrrGb 

i&rrrrb 

t_rr&AQL_fruS11Lin-Gb 

(yDesles)61.no§sfEcrurGi) 
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(D) 100 

(A) 1033 

(C) 1028 

1098 

(B) Opium 

(D) Chemicals 

(A) Cocoa 

Nicotine 

69. 	Which among the following is the Child Helpline Number? 

614ra_i®Guarai0Gb 606-np p_paSlordor Gi-N? 

(A) 1033 
	

(B) 1098 

(C) 1028 
	

(D) 100 

70. Addiction to tobacco is caused due to the presence of 	 which is a 

stimulant, highly harmful and poisonous substance. 

glarn- AG6-Ku oTeia-r@Lb,  uSlEeiLb 	eSlco1re51&6Lb, piFE4p6israllo Gin-rulOp 	 

Clun-ocir, 9061Jew LIG-6)&616-0GuiE(5 	 Ditcl_G-ninturr&6g1§. 

(A) Qftàrr 
	

(B) 961tini) 

(C) 	OGgraci..6-1- 
	

(D) grjzFrriu 05-rrizsGi-r 

71. 	Expand HIV. 

(A) 	Human Infection Virus 	B) Human Immun.o Virus 

(C) 	Human Indirect Virus 	 Human Immunodeficiency Virus 

HIV 616-?5T 6161GurrAzmi) GrGisrar? 

(A) 	WoMp QprOg GIDGi_11)-Gio 
	

(B) Lueflp CprrQuprilig GoGurj-do 

(C) 	waflp LD 61D N.4),EE 6/11)-GiO 
	

(D) wailp pan_csrrilly 66-6)un-@ GO al ITGiO 

DJRE22 
[Turn over 

17 El 



Solar Cell is made up of 	  that converts sunlight directly into 

electricity. 

Silicon 	 (B) Lithium 

(C) Copper 	 (D) Aluminium 

61LLJLES16isr6sGuLiD, &1iu9G-61615)U 	uirruSIGisr&rnjuNr5 wrrftith 

 

 

(A) 	bleu& 116T 
	

(B) 61S10 Li0 

(C) Q&CDLI 
	

(D) 	I USI 

Arrange the following methods step-wise to indicate the conventional method 

of wastewater treatment. 

water reuse 

pre-screening 

sludge management 

aeration 

(A) 	(i), (ii), (iii), (iv) 	 (ii), (iv), (iii), (i) 

(C) 	(ii), (iii), (iv), (i) 	 (D) (iv), (iii), (ii), (i) 

6uw&EuDrrarr 601a101-  &ruq (4)6-6) g 06001 	I_ LI 01 61)5thl 6i) 6051111Terrill u @g 

,Dip6-6)67sr&Curr5 

 

6u616-6)&i:Ju@paiLiD. 

jft Lool&wA 

aiiipEGIL@p6) 

I 5 	.g.1 Gb  

szErrap-b 

(A) 	(i), (ii), (iii), (iv) 
	

(B) (ii), (iv), (iii), (i) 

(C) 	(ii), (iii), (iv), (i) 
	

(D) (iv), (iii), (ii), (i) 
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(A) Europe 

(C) Antartica 

(B) Australia 

Asia 

74. 	 is used to save multiple files in a computer. 

(B) MS Word 

(D) Notepad 

aoso-flefiAG-1) ue) Cm-riliL16563D61r G5u51&& 

(A) 	Q u duni 

(C) CEIT1114QpITlily 

uLucigu@glo. 

(B) G-rio ado Gairrfr@ 

(D) GprrLGuil 

75. Which one of the following continents were colonized and exploited in the 

nineteenth century? 

GirTLJQ5Lb 	56001  L_1.1.:Ethi6i) 	GrcP 	6600I L_Lh 	 u QprrGisrupn-Lb 	pn-Gooa) 

Err6u6.61§GuLliu@ptiluil9 (E5-9-6001L_UuLl_o? 

(A) mCiTrriliurr 
	

(B) „%ciDOCITGISIuirr 

(C)  	ftiqn 
	

(D) 4lUJ r1 

76. 	The International Court of Justice was set up at 

Hague 	 (B) Scotland 

(C) Paris 	 (D) Ireland 

&fraiGp5,60LoGisrpth 	  D 	I OD LD,tho aro . 

(A) Cwib 
	

(B) duErrLGorr§ 

(C) u1r616-io 
	

(D) ,DitufrGurr§i 
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Germany 

(D) Canada 

(A) France 

(C) Switzerland 

(B) Uitlanders 

(D) Africans 

(A) Transvaal 

Afrikaners 

77. 	In 1934, Adolf Hitler became the President of 

1934 ,w_b-,w-tio-rtsi_Gi), ,31t_rrGo:ou paLLGDri 	 narrrOuOu_irrarruCr? 

(A) 6117Trdcrcio 
	

(B) Qn(an6-61 

(C) &GSIC__&(T6Drr§ 
	 (D) 6-o-n_rr 

78. 	Boers were the Dutch Settlers of Africa. They were also known as 

.still_51MisffirreS16) gui_Gu_iPu t___;T&& (til_CLU#6567fr Gurru_dr<scir ,9s6-ufr. @alfrffidr 	 

..16-6u&661:_iuGir. 

(A) 1+17646k) n-Gb 
	

(B) u_ILICGD65-r-Lirdo 

(C) 	M&EsCpri-(sci-r 
	 (D) ,9sciam&z5n-GisrGiu 

79. 	Anti-Apartheid movement was spearheaded by 	, who was also known 

in South Africa as the 'Father of the Nation'. 

(A) 	Henry Mandela 

(C) 	Walter Sisulu 

(B) Oliver Tambo 

Nelson Mandela 

(61C1e41 orprilly @Luise_ECD 

 

,9sGb 6101 pL4pliutiL_§. 

 

Qp6israrrningM&EureS1G-1) `Cp,TOGisr pos)p' 61-GisrgLh ,Diau:ss&L.JuLt_rrCr. 

(A) 	@ w6-isr# LookrC L_60 rr 	 (B) ,DseSlaift t_rniaurr 

(C) 	airr6bLir alagi 	 - (D) Q56),56-in EnG&)1CL_GDrr 
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(A) War 

(C) 	Natural Calamity 

Holocaust 

(D) Famine 

When did the Pearl Harbour Attack take place? 

1941 	 (B) 1943 

(C) 1942 	 (D) 1945 

6riliQu Fro (00 ,§16-ngs 

(A) 1941 
	

(B) 1943 

(C) 1942 
	

(D) 1945 

The Universal Declaration of Human Rights was framed as an aftermath of 

the 	that took place in Germany. 

Lo6-61p Q_ffles)Lbi&ih,s51-r6-6-r 61),SerfrreSku 619-EL_esrth Qnri-LnailugGi) p4p 	tgw5 

(A) 	Cu rro& 
	

(B) Cuçr 

(c) 	glIJOME Cu 
	

(D) 

82. 	Which of the following is not an organ of the United Nations? 

Food and Agriculture Organization 

World Health Organization 

International Business Management Institute 

(D) 	United Nations Development Programme 

616-irraloGlies-ra001G1) 	lUiprr@EGiT ,56-nuuSlGisr ,DirgiesLb  

p___600ial Lb001Lb CGuarrreiurGimn ,Diann LI Li 

2.__61M5 thErr-prnjOge_Jerrti) 

5fralCv 6116561E GLoGurrduranD (6101Guani) 

a45All_J prr@&G-61Gisr aiGrrfiRthl 1Lb 
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83. 	Who among the following played a key role in abolition of the practice of Sati 

in India in 1829? 

Debendranath Tagore 

Kesab Chandra Sen 

M.G. Ranade 

Raja Rammohan Roy 

1829 .zwi) 	00u_i1ra516-1) 

90C_1416) ($1uJ uri6 GliglWAJCr wire? 

G3-00-)  ((TO) G-T6iggi u 	op 

CpC40r)-prr prraiir 

CaECI 509-  Q56iST 

M.G. oTrGool 	Cu_ 

@p-rrnrr 9-rrthCLDrr6;6-isr çrurui 

84. 	Thiruvarutpa is a collection of songs written by 

Ramalinga Adigal 

Iyothee Thassar 

Manickavasagar 

Thirugnanasambandar 

00aioLurr cresrugi 	Grg Li urn_GOE-6616iff 

@iTrapoSIEs 3146wir 

,DiCturrO pruffr 

wri-6-661 &EGLI ITZHE n- 

Oogrr6-trpsqhupfr 
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(B) Palayam 

(D) None of the above 

(A) Padai 

Udaiyaal 

85. The Unit of women soldiers led by Kuyili, a faithful friend of Velunachiyar 

was called 	  

Caigprthblu rr616in-  p_6-66-ron Li) wiTur poku ijr-rar (ii9G1S1 	Gzs)Goco-)LDUD1FT Q durathl 6ill 

	 6TOST ,D1615V665LJULA__§J. 

(A) um 	 (B) urroDaruiLi) 

(C) 	p_co)L_UirrGir 	 (D) Cu*F64lui GroalLb &b6-0-)a) 

Who is known as Punjab Kesari? 

(A) 	Lal Bahadur Shastri 
	

(B) Pingali Venkayya 

Lala Lajpat Rai 	 (D) Bal Gangadhar Tilak 

1_1&11111 GE5M Gthu 	 tiuiuift liJrrfr? 

(A) 	GurrGi) uagrft &rrGiu061 
	

(B) arLk5seS1 QGIAIOSV.6111n- 

(C) 	GorrGorr Gumu0rrrui 
	

(D) urrco .ffirLi&r.rply0Gmsfr 

During Swadeshi Period, a Swadeshi Steam Navigation Company was set up 

by V.O. Chidambaranar at 	  

Tuticorm 	 (B) Kanyakumari 

(C) Cuddalore 	 (D) Pondicherry 

&Cpb1 &n-6106i) 	ApLi)uvoo-rrrfr &GpA istiluGb Opia16-6-*Dp Qprrur.JAILLJ 

     

(A) §_fr0oi66L9i 
	

(B) (Ecirr6fluirr6ta 

(C) &Lfrfr 
	

(D) urrdo-rui_FG,T61 
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88. Nationwide Satyagraha was called for by Mahatma Gandhi against 
which was also called as Black Act. 

(A) 	The Government of India Act, 1919 

The Rowlatt Act 

Tinkathia System 

Simon Commission 

wesrrporr 611- 0 11_11F61) (JL 	LLLb rGisrg 	i uLi  	rp-ri-8 prr@ 

VT6)Slu 6F 01-1-11TAIIT66 0'DIGV1111-1 6).-9@&EE Lill 11-1-0 • 

&Ott] ,D11)- (EFLIL_Lb, 1919 

QvarGoL&LL..th 

PireIrrOu_Jrr (4)G6) 

61D u) Gisr 6(g) 

89. The Salt March held in Tamil Nadu by C. Rajaji was from 	 to 
Vedaranyam. 

(A) Tuticorin 	 (B) Chennai 

Tiruchirapalli 0 	 (D) Madurai 

C. FrnrrO,Dialfi- r puS1rrLo 	uj P_CJ (SFOujrrrg ui4 

Gaip11-76(;01 	LLI 611 GO IT p611) L_Q 

(A) 	WO&64- 
	 (B) &4WD at 

(C) 	00,419-miludi-G61 
	

(D) L.Dgj 61D ry 

90. 	Yasser Arafat was the President of 	  

(A) Pakistan 

(C) Iran 

(B Saudi Arabia 

Palestine 

1LJ rriEF ,D19-rru 	 prri14r nagrr1u0 11J rr,E @opri-fr. 

(A) 	urrAldon-ar 	 (B) 6%10 ,31C101.1_111 

(C) rwrrGir 	 (D) urrax-46-6-fth 
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(A) 

The first Tamil Daily Swadesamitran was started by 	 

G. Subramania Iyer 	 (B) M. Veeraraghavachari 

(C) T Muthuswami 	 (D) Srinivasanar 

&PG° P1-61  PrrthiP &CP&LISIOT6T 	or6isrualvri-Gi) 

- (A) 	1. thiiiijiD6-6-0-Ni uift 	 (B) 	p.OrivraGurrif&FrM 

cOocgrru51 	 (D) 	al rr6,6--o-rn-1r 

Who among the following is hailed as Kodikatha Kumaran? 

V. Ramalinganar 

0.K.S.R. Kumaraswamy Mudaliar 

T. Prakasam 

K. Nageswara Rao 

fto asrrisfEr-Op 5mg-6-in G-1-65-rg Cuuru u&i ft rr fr ? 

acl. gvrrtneSlitliEGurrrfr 

9. C65 . 6T-Gio.,9sfr. 5L_DrnjzFrruS1 cyppoSILLI rift 

arj&ruRio 

GE . 	ciçrçrrri  

93. 	The earliest text of Tamil Literary `Thirukkural' was published in the year 

(A) 1702 	 (B) 1945 

1812 	 (D) 1844 

@GD&A1u406isr ,9sulhu&rrGo 2_601711_1n-66r `03iwire Q Gila u 	i u 	,%6601 

(A) 1702 
	

(B) 1945 

(C) 1812 
	

(D) 1844 
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94. 	Who was the founder of 'Tani Tamil Iyakkam'? 

V.G. Suryanarayana Sastri 

Bharathidasan 

S. Vaiyapuri 

Maraimalai Adigal 

`pefilp[151@u_iiE&NG-irr' Oge_16-o-r(r.turr(r? 

61u_iprrijrruiesur arrduN61 

urriTNprr&Girr 

Grcio. Gnaiturry61 

u)Gou)635)Gu ,Dlupsci-r 

95. 	Which of the following is not  a name used to denote E.V. Ramasamy, the 

founder of Self-respect movement? 

Parithimar Kalaignar 

Periyar 

Vaikom Veerar 

Chitraputtiran 

(4,s6o-aii_e_0#61) alut.o6kurrapp 	 Ogaico-rfr 	guirw,sfrru616-0-Au& 

60&&111Qurrp 	Gro? 

urfiNtorr EG0G-Defr 

Quffluirni 

Gnai&Fui2. 09-fr 
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96. Thozhilalan' was a 	 published by M. Singaravelar to address the 

problems of the working class. 

(A) 	Tamil Magazine 

(C) 	Tamil Book 

Tamil Newspaper 

(D) Tamil hand-out 

p rrOl 1-rani-Ethl Girr 	uft1ET 	61 ij46F6b-)6-6-rE 6-6) arp 	i'r&<ss 	w. 	1-LiErrITGai rjrrGb 

CIGue6161L_CiuLL_ 	 `QprrOlGon-Grr6ra' s6CD. 

(A) 
	

(B) ptiSlprrap 

(C) 	P1-151  4P651-b 
	

(D) pu54,  66)5Cui@ 

The tri-junction of the Anamalai Range, the Cardamom Hills and the Palani 

Hills is called 

(A) Kodaikanal 	 (B) Ootacamund 

Anaimudi 	 (D) Shimla 

,Dseparrinem, GJOWUJ u)G6)61) L.DODICD uw6-61Loma) ,9skuies)ai 60&gLb 

Grosnliu@ii). 

(A) 	Q rue» LAErresr6i) 
	

(B) P__pELD666T-L_Gini) 

(C) ,9s6-narcy) 
	

(D) Ati)Gon- 

Which among the following States in India has the highest number of 

buffaloes? 

(A) Rajasthan 

(C) 	Andhra Pradesh 

Bihar 

Uttar Pradesh 

(.50 U-1 (1-09  616-raloth G-T,thp wiTOGIOGb ..D106 Gr6kresofl&G.6)65016) GroosADEGir P_GiT61-166T? 

(A) vrrneiu,prr6ir 
	

(B) Llsrrn- 

(0'  -DS,thOiT iTCP&L° 
	

(D) 240[)-  u-Cp&CD 
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(B) Copper 

(D) Dolomite 

Bauxite 

(C) Limestone 

(B) 41st 

(D) 59th 

49th 

(C) 51st 

99. 	Aluminium is extracted from 

,D0A15166u_ni) GrOGIS100 6-161C1u@AlRg? 

(A) urr&G-n&L 	 (B) Q&Lby 

(C) (%eio-16001 	rrtio 66i) 	 (D) CL_rrGue-KoL 

100. Justice Thiru. Uday Umesh Lalit was sworn in as the 	Chief Justice of 

India. 

,6041 00. Q4j Cwi1 GDG61 1 /431alfr6Gir 00tu1re9Gicr 	 voGucoln muo 
,9se_irrfr. 

(A) 49' 
	

•(B) 41' 

(C) 51' 
	

(D) 59' 

101. Who was the first person to discover sea route from Europe to India? 

 

 

 

Magellan 

Christopher Columbus 

Marcopolo 

Vasco-da-Gama 

MCITITI:JUrreS1G-1) ,@00,0MIturreS1k5 tEL_Gb 6-11§ urreo-)p-niu gpaSIGi) &GOO] 	L_ftpalCr rr Cr ? 

•Gluis6D6T 

kOlGiuCt_rruri-  QurGoLiDuciu 

inrrn-G&rrCurrCGurr 

rrduC6Grnranrr 

DJRE22 
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102. 	  is the largest ocean. 

Pacific Ocean 

(C) Artic Ocean 

(B) Indian Ocean 

(D) Atlantic Ocean 

L616111Clurfltu gL_Gb 

(A) 	u6161& Quorst__G-i) 
	

(B) @Mltu Clyori61_6) 

(C) 	,DsCrul_iG QuorL%L_Gb 
	

(D) ,91C_Gurraiurt_T& QuorrliEt__Gb 

Who offered gooseberry to Avvaiyar? 

(A) 	Pan i 	 (B) Pegan 

Adhiyaman 	 (D) Valvil On 

9areDG-lai11o:555 ClpGi)61&&6-616nui C1661-r@pani 

(A) 	LJ rr61 	 (B) GUEscin 

(C) 	,D0 U_J n-Gisr 
	

(D) 	GI) eS1 Gi) 961 

India is divided into 	 seismic zones. 

(A) Five 	 Four 

(C) Three 	 (D) Six 

@Ouirt 

 

Oa) 1 /4310frai LDGOOIL_Gurr;i6arn-656161&651:JuL@Giraro. 

 

(A) ‘Mth51 
	

(B) (1-625T5 

(C) cy36irg 
	

(D) —S01 

DJRE22 
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105. The Governor has to take an oath of his office before 

 

 

 

The Chief Minister 

The President 

The Prime Minister 

The Chief Justice of the High Court 

ujrrftC406T661611)6u Gb up051 apon-Gooi 	Lip cr@ois Qcsurairrn-? 

(y3,GDG-6)Loif,Eni- 

ma-r41 

611)-po Lo(0161 

P_AU 40 in Girr pa-)GDoslln $0u0 

106. Which year did Tsunami hit Tamil Nadu? 

 

(A) 2006 

(C) 2005 

(B) 2003 

 

oi rrLm &rn-u51 prr&gluo? 

(A) 2006 
	

(B) 2003 

(C) 2005 
	

(D) 2004 

107. When was Veerapandiya Kattabomman hanged? 

16th October, 1799 

(C) 	15th August, 1789 

(B) 2nd  November, 1800 

(D) 20th March, 1798 

6-8)-  Un oIUJ tE6 C_LLI u rribin6-isr atliGurro §TOGISIL_CJuLt_rrir? 

(A) 	16 1 /43I&Ci_rrur.r, 1799 
	

(B) 2 paRburi-, 1800 

(C) 	15 ,z,s6G-iu@, 1789 
	

(D) 20 wrrfrif, 1798 
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(B) January 1947 

(D) April 1900 

January 1938 

(C) 	March 1956 

(B) Bombay 

(D) Madras 

Calcutta 

(C) Delhi 

St. David Fort was built by the British in 

(A) Vellore 	 (B) Chennai 

Cuddalore 	 (D) Pondicherry 

LI GOilp CL_GO 11 G6 rnlos)L_ ,,,wf,igC6utuCr<s6Gri- rrGi) G-r* 

(A) 	Gal gfrft 	 (B) 056.6-rmorr 

(C) cjrft 	 (D) urr66o-r4iFC&61 

The first five rupee note was issued by the Reserve Bank of India (RBI) 

in 	 

gujfilf frGii OA <0 upG1) 	 Gpri-Len_ 

 

aalthitatm___§, 

 

(A) 	m6-0-raa 1938 
	

(B) naciaa 1947 

(C) 	wri-friF 1956 
	

(D) gLif)-6) 1900 

110. By the Regulating Act of 1773, a Supreme Court was set up in 

1773 ,DsLb 	9(g)r 	cyDG-om &11_406isru 	fy igOLDGis-rph ,Diesno&EGL:Jui:_i__ i_c_D 

(A) &Gi)&prr 	 (B) uLburRiJ 

(C) QL_GOG-61 	 (D) QuHl.fxdo 
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111. The first Lok Adalat was held in the state of 

(A) Tamil Nadu 	 (B) Kerala 
Gujarat 	 (D) Maharastra 

cypp-i)wài 	1_06:6TC1) (Corr & 	 LDITO 60 CD 

(A) 	(51r@ 
	

(B) CEErjarrr 

(C) 6RiTrr 
	 (D) LnwrriprGilarf_Fr 

The brain loses the ability to function if it does not get oxygen for more than 
	minutes. 

(B) 6 
(D) 7 

	 filuSlt_rLsiG6 CLoGi.) 	vrresurairatA ka-)1_&Erre5lt:_l_rrGi) (4366)Gfr CLW11161)U 	- 

G.6)661  g 	D. 

(A) 5 	 (B) 6 
(C) 4 	 (D) 7 

Tuberculosis disease is transmitted through 

air 	 (B) water 
(C) , food 	 (D) waste materials 

Err&Gprruli apir uGuth urTG-141? 

(A) 	E FT'DJ 	 (B) pa6b1600(r 

(C) 	600 	 (D) 6sOlei ClurroLl&eir 

What is the respiratory organ of fish? 

(A) lungs 	 (B) fins 
gills 	 (D) lungs and fins 

uS6616ir &airr& 	G-r§? 

(A) 51615)7676)EG-1-r 
	 (B) §@C_Iy&Gir 

(C) 	Q<EFeiGirEGir 
	 (D) geD9-6761)666-r 4ph5OLliy<se'rr 
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3 : 2 

(D) 4 : 3 

(A) 	4 : 2 

(C) 	3 : 3 

Milk contains 

   

   

(A) tartaric acid lactic acid 

(C) 	malic acid 	 (D) acetic acid 

un-eSIGo 	 ,31L.Amtl a_droT§. 

(A) 	L_rrn- L_rr61& „Di L.61Gillh 	 (B) Gorr&til_iL 	 

(C) 	LorraSl& ,DiuSlall13 	 (D) 	 

The only snake that builds a nest is 

(A) 	black mamba 	 (B) krait 

(C) 	venus 	 king cobra 

6F,L® (EL@Li) 9Gu-  alos),su_irra-r urnhy 

(A) 	&0C_IL4 Limn:purr 

(C) 	6-11661GiD 

  

(B) (Eil@e51Mui6is-r 

(p) ijirrraLi) 

Our National flag's length and width ratio is 

pup§ GpAtu CLEra+016-is-r Prib L.DogTo ,31,55a) aMpth 

(A) 	4 : 2 

(C) 	3 : 3 

(B) 3 : 2 

(D) 4 : 3 
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118. Calorie is the unit of 

heat 	 (B) work 

temperature 	 (D) food 

6CGurrM GrGirruo 	ui,D1G-og? 

(A) @Gutliuth 

(C) Qaitilk61G0-)e) 

119. Which is the largest human cell? 

(A) liver 

(C) spleen 

u516EiQu1u t_Defilp Q&Gi) 

(A). 	6.0 669-6) 

(C) w000Tçro 

(B) Gai6Daj 

(D) 

(B) GrrG-i) 

(D) zso (y)[1-0PI- 

Plants receive their nutrients mainly from 

(A) Chlorophyll 	 (B) Atmosphere 

(C) Light 	 Soil 

prre_JuTscirj51i 	 mar (OA 111 LD rr6 	QuggGisrpar? 

(A) 5CarrrG9-rraGb 
	

(B) Gliameilyn__Guth 

(C) 	9thl 
	 .(D) LD 6Ci01 

Which vitamin deficiency causes Beriberi? 

Vitamin B1 

Vitamin El 

(B) Vitamin B12 

(D) Vitamin B5 (C) 

Gur9Qu61 GrGiggilh Gprruli G-rp GoGuLt_uSlerr (6-npurrC_L_rr61) 

(A) 	co-)GuLt_u516isr Bi 
	

(B) 	611 l_Lf51 64 B12 

(C) 	mai Ci_uSIGirr El 
	

(D) 	0_1 LL L_L.61 Gist B5 

DJRE22 
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(B) six 

(D) four 
five 

(C) three 

major parts. The human brain is divided into 	 

(A) two 	 three 

(C) four 	 (D) five 

wailp uGoar 

 

cOgu_i u(s8sarrr66 i_sim&61:_iuL43iEgR51. 

(B) cy3G-isrg 

(D) 

 

(A) gu-6-thyr@ 

(c) prr&r6 

Which is called as black gold? 

(A) Coal 	 (B) Iron 

(C) Copper 	 Petroleum 

prQ<ELb Grar ,D es) p 	u Gu 6T-§? 

(A) 061)&0 

(C) 	QLb LI 

(13) goLbLi 

(b) QuLCip-re.Slui:o 

How many rings are there in the Olympic flag? 

96616)619 ClE1n+61Gb GI-Wpm 61.1 66) 6frUJ1FJ11- 	? 

(A) Mth01 
(C) uGisrg 

(B) .,9s01 

(D) 51r-6isr(5 

( 125. How many squares are there in the game of chess? 

64 squares 

55 squares 

(B) 71 squares 

(D) 44 squares (C) 

e.516-6)Grrun-L4.6) G-rpos)61ST &51rIJFFP__ci-rarosr? 

(A) 	64 &§[TriEcir 

(C) 55 1)-&sGir 

(B) 71 &§[TrQ,%Gi-r 

(D) 44-g§vrr;iffidr 
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(B) output 

(D) connecting cable 

(Trrposrt.b. 

(B) QQ_JafluSL@ 

(D) @Goeszsr&*) C6ELS1Gir 

(A) input 

storage 

Pendrive Gr -ruo 

(A) 	Gi-rci?ti_@ 

(C) C5uSlug 

126. 	  is the queen of drugs. 

(A) Neem 	 Penicillin 

(C) Insulin 	 (D) Yeast 

LooMi65G616-iTr @txrra)fl Gresr 1 /4316-0-)0oilu@Glio.1 

(A) 	Gal Lipy 
	

(B) gb6-611616* 

(C) 	@Girra-G616-r 
	

(D) Fab LI_ 

127. Which part of the flower becomes fruit? 

(A) Corolla 

(C) 	Pollen grains 

Ovary 

Anther 

inGo616isr ri u 	turriss Lorrolgo? 

(A) Q(ErrGijrrGurr 	 (B)  

(C) 	LuElj- p prrai1l1Jrigirr 	 (D) Lii5srj-,thpi) 

How many senses do we have? 

(A) six 	 five 

(C) seven 	 (D) four 

G-rpoperr L_6001fravEirr _G•irGiT6-07? 

(A) ,9sgi 	 (B) MMI 

(C) G7g 	 (D) prrGisrg 

Pendrive is 	 device. 
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130. Which is the first railway line in South India? 

Royapuram to Walajapet 

Chennai to Arakkonam 

Vellore to Arakkonam 

Madurai to Kodaikanal Road 

@OisrofilOttirr616-{ (4)0) gvaski) urrbs) G-T,§1? 

ij- raut_ivii) (y)G-.1) Gurra)mrrGuilos)L_ 6)_1v 

Q&GisreD6-0--r cyDpGi) ,_Div&G,E6rresurd) aiG-6)17.  

Gaw-Cr &pi) ,91[)-&C,E6rregni) al6-01)- 

u)§6-6)9-  (ppd) afEITGOI__&rr6-076-i) 5116060 6/1601T 

131. On which day is National Panchayati Raj day celebrated every year in India? 

April 24 

January 26 

(B) August 15 

(D) December 1 (C) 

gOu_irre5161) 	 ,9s6thyr@LB 	prraild) COLL] u6,Trra_l§ çrur 	-rth 

Clzurekri_rri_tilu@Al§? 

(A) 	oftiii)-6-i) 24 	 (B) ,Ds&Gio@ 15 

(C) 	m6-69-GuM 26 	 (D) 4L:Du(r 1 

132. Which was the capital city of India before Delhi? 

Calcutta 	 (B) Bombay 

(C) Madras 	 (D) Hyderabad 

QL_Gbaslis6 (05-rq 	ILJ rre516-ir pa)Gopsini) Gr§? 

(A) 656b,sprr 	 (B) urrLiDGu 

(C) QupLiTri-Gio 	 (D) GoWPITIT'14 
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(A) 9,89,999 

(C) 10,000 

8,99,999 

(D) 1,99,999 

The instrument used to measure the amount of electric current is 

(A) Voltmeter 	 Ammeter 

(C) Galvanometer 	 (D) Speedometer 

LaGirrGe-rirtit_406-in- 	 rru 	 & u 	uüub <5506 

(A) CallT6bLuSLLL.jr 
	

(B) ,3ithuStit_n- 

(C) ErrGbalCosuruSilijr 
	

(D) ciDSCL_rruSILLIr 

The difference between the greatest six digit and the smallest six digit number 
is 	  

uS16111Quiflui 4ff@Gu&E creine-61, uSlEgithlOui ,Dsoi @GDZGE Gruioloo-fl(51i) P_Gircrr 

eSlOtlirraLi) 	 

(A) 9,89,999 

(C) 10,000 

135. Arrival time at Tirunelveli is 21 Hours 15 Minutes, Departure time at 
Tindivanam is 10.00 A.M. The travelling time is 	  

10 Hours 15 Minutes 

12 Hours 10 Minutes 

11 Hours 15 Minutes 

(D) 
	

9 Hours 20 Minutes 

00Q0)Cala61oot.0 C(scfrposm_p Cpp.b 21 wasfl 15 kluSILID. 

LITL:JuLt__ Cp9-th thrrem 10 w6-661. CILDrrp ILI6001 Gpoll 	 

10 wasfl 15 kluSILAJEdr 

12 u36-66110 OuSh_rLiadr 

11 magi 15 kluSIL_r&Gir 

9 wasfl 20 LIS1 L_IfaiE617.  

06dbia16606.) @o§i 

  

(B) 8,99,999 

(D) 1,99,999 
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(B) 77 

(D) 37 

(A) 4 

2 

136. 1500 grams is equal to 

 

 

 

1 kg 5 grams 

10 kg 5 grams 

100 kg 5 grams 

1 kg 500 grams 

1500 Atpub orpk5 (rnmnrrosr§? 

1 gIGGurr 5 gip-rd3 

10 AlCGurr 5 gijrni) 

100 AlCGDrr 5 Alip-rib 

1 AlGwrr 500 giTrai) 

137. Everyday 55 litres of water is sprayed in the garden. Water sprayed in 

3 weeks is 	  

(A) 1055 Litre 

1155 Litre 

(B) 165 Litre 

(D) 550 Litre 

(FJ GprrilLOGi) 9GiiQGurro prrii) 55 GOLLIr p,0016007fr Qpthl&milu@AIRD GT6616), 

3 airrijOks Qpaiusiliu@Lb pdsr600T616-in 1 /43lared 	  

(A) 	1055 GISILLIr 

(C) 	1155 ac_i_fr 

(B) 	165 GO tli_fr 

(D) 550 AlLir 

138. The difference between the successor and predecessor 7737 is 

7737 FGTJD6F6-661-6661 	t_516-6)pui LEOgt.i) (yDeppui Grdsrauflk5 p_drareSlOturr&i.h 

(A) 4 

(C) 2 

(B) 77 

(D) 37 
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(B) 9 : 14 

12 : 21 

(A) 1 : 7 

(C) 	14 : 12 

2,58,750 

(D) 2,45,000 

(A) 2,40,000 

(C) 2,75,000 

141. 7.2 x 3.2 is equal to 

(A) 21.08 

(C) 10.06 

(B) 28.60 

23.04 

139. An equivalent ratio of 4: 7 is 

4 : 7 GrE:o-rup -5umnr-resi-  eSlApti) 

(A) 	1 : 7 
	

(B) 9 : 14 

(C) 	14 : 12 
	

(D) 12 : 21 

140. In 2022, the population of a town is 2,25,000, if it is increased by 15% in the 

next year, the population in 2023 is 	  

2022..,z9sLi) ,9s6001 toi_61) 	p&MG-isr LogkEEci-r Qprrams 2,25,000 .„9st.b. ,3101  	61-101-06.) 

15%.,:wLrro, 2023,@Gisr in&gGir Clprres),E 	  

(A) 2,40,000 
	

(B) 2,58,750 

(C) 2,75,000 
	

(D) 2,45,000 

7.2 x 3.2 	 <6( &Lino rresTo. 

(A) 21.08 
	

(B) 28.60 

(C) 10.06 
	

(D) 23.04 
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(B) 6 hours 

(D) 8 hours 

(A) 	16 hours 

4 hours 

(B) 20 units 

15 units 

(A) 	10 units 

(C) 	30 units 

(-15) x (-12) is equal to 	 

(A) —180 	 (B) +27 

180 	 (D) —3 

(-15) x (-12) 

(A) —180 

(C) 180 

 

iE(5 &LDLDrraro. 

 

 

(B) +27 

(D) —3 

Ram studied for 4 hours, 7 hours and 5 hours respectively on 4 consecutive 

days. If so, how many hours did he study daily on an average? 

0-rah Qprrt_frirAurrE 4 prrLLEG616) &Giu 4 Loosofl C9-Lb, 7 Lo6661 GpvLb wft 

5 Lo6-669 Gpu-Lb uOgidrourfr. ,DidiGurrQ6-61G1), 	93-prrepar&6 zfrjrra6luirrE ordialarei 

Gpryth uti}.§GircriTrir? 

(A) 	16 LOG-661 GpVlb 	 (B) 6 wegl Gpvio 

(C) 	4 Loo561C,59-Lb 	 (D) 8 wasfl 	çrib 

144. A heater consumes 5 units of electricity in 50 minutes. How many units does it 

consume in two and half hours? 

50 filuSk_rLiaG-616) 	OLi_fr 5 gGaL L.616-irrarru$6-op utuGisru@Nu_46-rai-§. ,@ITGooit_6-np- 

LDORY9 GpIjA161) 6Tdial6fral g6611116625)61T t:n_16isru@p1513is6LiD? 

(A) 	10 gailLEGir 
	 (B) 20 gailL&G-ir 

(C) 	30 gailLEGir 
	

(D) 15 gaqt166-r 
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(B) Orographic 

(D) Monsoon 

Convectional 

(C) 'Cyclonic 

Which of the following expression is not zero? 

(A) 	0 x 0 	 (B) 0/0 

2/0 	 (D) 0/2 

61.6irraloth QGualliurr@fsof1G-i) GT§ 4AliuLurr,E5@GbeDGo? 

(A) 	0 x 0 
	

(B) 0/0 

(C) 2/0 
	

(D) 0/2 

	  type of rainfall is called 4 '0' clock rainfall. 

G-1.51i 611606 wauCJClurrOlai 4 LDOILDesutiaurrOlei 6162ff <9.101U&SIIILJ@gp§? 

(A) 	ClaulluicaGuar Loosu 
	

(B) 9C9-rrg1ip-r61& 

(C) 	prre_IG.61 
	

(D) uoennev 

147. What is the time limit to get information from Right to Information Act, 2005 

(RTI)? 

(A) 	40 days 	 30 days 

(C) 	25 days 	 (D) 14 days 

pae_16) 	rfiGnin 5Lb, 2005@G-4,4, pfse.16-6a) Clugaip&rresr6srre) 	jrr 

(A) 	40 prriliEcir 
	

(B) 30 pn-L&Gir 

(C) 	25 prriliEdr 
	

(D) 14 prrtladr 
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(B) solar power 

(D) hydel power 

(A) 	nuclear power 

thermal power 

148. Electricity produced from coal is called 

(61G-D&&6161c15100 pLurr61,i6EUu@Lb uSIGisrarm-Lb 	  

(A) DloiL6 -rai41 	 (B) 

(C) 	,516-TrGi) 640 	 (D) $(1- 6F&O 

149. Who is the head of the State Executive? 

(A) 	Chief Minister 

Governor 

Chief Secretary of the State 

Home Secretary of the State 

LorrfilGo filri-G-111506irr poDam.iri-  111 rrir ? 

(y)pGuco-nt48fr 

 

wri-file)06isr p606061DLD Q&thiGurrarft 

LEarfila)06isr 	Cl&u_JGDrrarfr 

150. In which country is Mount Kailash located? 

(A) India 	 China 

(C) Japan 	 (D) Africa 

GIDE GI) FT& W6- ) GT 	rnitil_Gb ,D16-6)LooGircrro? 

(A) &Oujur 

(C) ni_iyrr6isr 

(B) garrr 

(D) „Dsiiii.9M&,sur 
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Personalized OMR Answer Sheets of the Candidates will be supplied by the invigilator for 
answering the Questions. If the OMR Answer Sheet, is in anyway defective, the same shall be 
brought to the notice of the Invigilator immediately before shading, so as to supply a spare 
OMR answer sheet. 
eSIGni_&coar rLaccia-raartliuprrpi-.m.616isr GailL:Juivarn-&atiluLL_ OMR eSlos)L4pn-ci-r 96-rg 

a6-6u6srrafilLiurrarprGi) ppliu@Co. OMR esieDt4prrGir G-J-Gpggi) 66-b->urr@a-m_uprr6s 
.@athpri-G-1), 	616) a601_66)LLI (0,§J&6sri-L1®61.1pks gd-r 	TUJ rr6s 	 6563-1.661F662191:1u rrarrfl Gig 
6Gueo-Ok5Z; Clarrdsr@ 61.0§ CalQrro OMR 616-nt_4p1T606fTlil Qug8Q6sn-Gi-rar Ce_166o1 a). 

Each question has four responses 0 0 0 and 10. You have to select ONLY ONE correct 

answer in the OMR Answer Sheet. In case you feel that there are more than one correct 

answers, mark only the answer which you consider the most appropriate. In any case, choose 

ONLY ONE answer for each question. E.g., If for any question, © is the correct answer, you 

have to shade as follows: 

96.1Qairro e_516-a-rrrapb ® , ® ,© LLOgii3C1 Grar prrGir5 616-6)L_Ecoar& Qarreilyr@dre-rgi.,6&EGdr, ,16-15)61_165calGi) 

9Gg- 	(Trflu.irresr 616-b-H_GoU_4 GO-61.1Q&ujujCG-thioi@Lb. 96b-g*5LUguLL iffrflu_irrar 	ODL_664 
GELci-rais6 @oi_Juprra& 66006arn-Gb, $rmscir u5lcs4 Erflturrar§ GrGirg Groppi6 60§1g1n-aGarrr 

aclopi_opti*p1r6i5r 616.6)4r1ef1G-i) (50gii; <unit_ Caloioi@Lb. cn:Juu_auSlggh 9® Cgd-reS1k5 9C9- 

eSlent_cou4prrar Gpfr-,Clp@&EL Galecol 	@th. 	ITIT6156111Mr& , $rGi-r 0 6T6i)TUODp 5rflturrar e_Clam_Lurra& 
6006-aurGb, „wnp SiGirraioLurroi (50§Fis 6raIL_ Cal6b01 

® • 

You must write and shade your Question Booklet number and Booklet Series in the space 

provided in the OMR Answer Sheet without fail with Blue or Black Ball point pen only. 

In case of any wrong entry of Booklet Series, your Answer Sheet will be invalidated. 

2.A36566)1_Ul 616-urrrQprr6tia." roi ifOgLi) 	i jkoouj OMR e_516.6)4prrthlGirr ,,91pC1,s6-6r 
.160L1:0§6:11-61T 	140 6i) $G0 lb ,16i)61)§1 E066lin (61(..4361f)L_LIJ u(t§iGpmesriLi GuarrreSlarrr61) 60J8 

ELrrC_L_GaiGOol®Lb. 6-96-urrQprr6111616-isr rfleDEFG-n UJ pa9rREE (50n-Gi) p_rLscir 61516-014prrcir Q6cGixorrppn-ReS1@th. 

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to 

take the Question Booklet and the Answer Sheet out of the Examination Hall during the time 

of examination. You are permitted to take the Question Booklet only after the Examination is 

completed. 

1LIcE667f1-  e_Clerrrr Grr-61.111.96-isr ri uuib$&aGairr ,DIGi)0)§1 g101&6Gairr &d_rrgi. Cffilrai Cp9-016i) 
eS1611T4 Qw 	iCujn cooeSiont4prreparCturr Gpfralkg._[_6.6)p 61511.1@ Qa1G-8.616) 6-r@ftif 

G5GimiL.Emth_frol. Gpfrai cymcf.p616-isr, @6_16)9Gurrr Qprr6Ciamar 	 GEFG-b6uGorah. 

Do not write anything in the Question Booklet, except in the space provided for Rough work. 

0516-urrrQprr61:_n_514i) 	1:1 WI& cr(TOC_I urrirC.iupkvflu_i @I_Os)p 	Caw 	Greoptiiii) 
Zin. LIT§ . 

Using Whitener / Blade / Eraser or any kind of tampering to change the answers on 

OMR answer sheet will lead to invalidation. 

2_AJZ66011_UJ OMR rr 	Trr6166)1_66061T 	9611:_co-rfr / LSIGGrr@ / .511_11urrr 
Gun-6in- coaiEbcocti-  uui6isru@gip6i) 	g-Gpgith Capt:Ju@gJp6i) Curr6isra-)Gli 	.1,TGir OMR 
61516ot_pir615)6114 Q&GixurrpprriEgle_Cl®Lb. 

Failure to comply with any of the above instructions will render you liable for action or 

penalty as the High Court may decide at their discretion. 

G LDCGD Q_Gi-rar 6-rp .zle_igpG-i),scelgt:o @bell 	&,c4 pe403-irrGb, Q_LuirfOLoGivrth gui_Clai@k5Lb Grcthp 90 
tillE6-6m6 	peiun_G-6)6-urk5 fJEG:fr Qu u a. 
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